Saniay. Jodhav.
oY

Sale g = 36,000

fQate of Comm\ssrovx = (2 -/,

AQQM 4 Q_mrhw\u\ = Commissian

-—

-—

3606/@1 X 12

By

IAqeuMM = L4320

S‘Pl (enr geds

36000 ~ 432

3168b

P

rsellcm-

)
)

Tat QA S%n(‘)h

-—
-—

2 Todale f't’(‘(ym-e ¥

5
\ {

- \0000 X 4 +[35000 -

\00001 RS/ |

_ " i
o "y

16y s

-—

, Leo 41250
In(oved = VBl

.,"r(ca‘z ’

. AC RN SN RS

1o

NDTNJ CommiSsian

(-Ilhm‘h vs?/'T

Del Cregléne Comm. <810 7

Cl2uoo x 9. /]

Tode) €_wm_n\r\\o; QF cgend




. jﬂLM :

oervalit sQL;,

, he M| -
WS 055 ume. Cc@h ”’m”b{,«_’_ﬂ -

JRE

PR

. \Mﬂ S \‘x_—l“
.. \ S8
Todel Comvpess i 5a/,-=.

2700 = . s5|lo00- T

C1oy oo 1eQ o —
‘ ' -6 %
2100 = Ly + 306000 -

A @b,)f =

—ew
2100 Y(DDW‘_

U+ A06, Ros =fat |

2 10600 = p |
270,008 = 306&32/,,%1_:——@——,_

:‘ I‘ [ =2A £ 000D ) — 2K i '; g
}‘ ‘LZ'BGOOQ — u
‘ / 2 |
| U’( - 1800 0 { |

Cs&sk dales = u?em7

Creoli b Sales = 5lood - (Raen

: |
-5'30001 Y t-

‘\\.‘ ( \ |
) oy (1 P

- [copeali't «g.Les ‘-QKOGDT

|
Y0 ‘/

\

|



/f’ngl: N(l.l

| Datn !

|
| i
| B |

(&g

= Bofp X 12.5 v

{

3

L= (89v125 xak

—

el 3

o \y

v

L= 8 R 126 i |

Y

3
U o

oy Y=

= B oY Y WEE SOA

N

AT £~ 332:373]

Ty e

5D = PwaT

— Q006 + 333 33

\T'

|s.D - g5 33,33/

( |

) ‘,’(‘,)/\“' : ‘vl”’/ ‘kk

I




= Tp: T s60. n=8 =2
:: =2 3. 7 >
o —— P— -,u. 6—-—A,--—A e d—— -
Mb#_ﬁ‘ w=_ .

(bo
S6p = P x |2 x 2
- 3
oD
S60 = A x 12x 2
3
(0o
S6ox(on = % x (2 X2
| 3
46008 = A X |ZLyxwl
3

stoon = ¥«

- AN, (!
\ ‘

,!f Pw = ‘(D‘J&j’i

I

;'] 2. 5Dz Pwt T.D

‘ = 1000+ S
S D= 748¢6n |




Pago o
Canm]
:@L1 . ——m
3) | s
=2 - Date OF danwiny = \gl02]a

——

u\_&S'/- ) Y\:Q

D’-f\j-/zol

L;J)OJ‘C _of d?rn‘r n?f\g\_(_&[oz [202 |

) pexind of bil] “) 9m

Nomive) due dade (8]l /202

&) Grymce __doy 4 3doy
“M—

. No.of doy: ?h’tsmmﬁ_ﬁﬁd,‘s(@u% Ia

l%?gl die Jdade i
= 23104 [20(y ¢o /U /200 |
] o © : “) ( .

j

1

— 1 Jure Tuly Py sept o0+ [Nov Toka]|

| 2 3 | 31 {30 |3l (21 [lyg]
S T Y
Jdés S

S Sum due = P/ L+ RPN \\

(oo /
Slese = Py ('(-‘f Sxﬁgk\)
s
‘ X wo
soon = Pow (14 27N
100 )
Stonn = P.ow (o2
(00 /

\ﬂg 5 [bex ( 0o — Ip. \_Av/
] 102




rw Lsp.hm;r»

am— ———
—— e

LT :;.‘,9})& xmw»
I e N _,;_,,_M———\

— e

= S0.008 x S¥ 2

~—.

| Bo!

—. NP

___——d—‘—*:'—;_f = (OQC\ -

R Gz T-D%xRrwry
L0o

—
y ———
- | o |
| |y |
| ) ( (
|
i
( \,x’ /(
|
| ot
| ‘ &
;: '.'.A" v 1/!-/“: ) ‘,v/‘/, I",’”'I
(! < !
I \
| r' v o j,f‘(
|
|
|
[ A ‘
| ) i
| \ ! 3
y /1Y l
7/ * ,‘}
1
i Vol ‘
, |/ \'\‘ Ay 3
{ )
. e





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

